Cryptograms
A simple example of conventional cryptography is a substitution cipher in which one piece of information is substituted for another. This is sometimes done by offsetting the letters of the alphabet. The algorithm used in this example is the act of offsetting the letters, while the key in this example would be the number of characters to offset it by. For example, encode the word “SECURITY” using a key value of 2 (where A=C, B=D, C=E, etc.). The resulting ciphertext would be “UGEWTKVA”.

Using this concept, decipher the following message:

R frkk pub zhkk "Tlh't Chjc" jb oukk qjkk

What is the message? What is the key? What kind of algorithm was used to encrypt this message?
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